ﬁf Addisjon opptil 5 (horisontalt)
Remiys

StudentName: ExamDate: _ ExamScore:
1+3 = 2+4= 4+3= 4+2 =
2+4 = 2+2= 2+1 = 1+2=
1+5= 5+1= 1+1= 1+3=
4+1= 3+2= 2+3 = S+2=
5+1= 5+4 = 2+5= 4+5=
2+5= 344 = 5+5= 5+4=
5+43= 5+4 = 4+3= 5+3=
1+3= 5+2= 242 = 4+5=
4+3 = 1+4= 3+2 = 2+3 =
2+4= 3+5= 2+3= 342 =
542 = 5+1 = 3+5= 2+5=
2+2= 2+5= 1+1= 4+2=
1+3= 2+3 =
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Addisjon opptil 5 (horisontalt)

StudentName:

1+3=4

2+4=6

1+5=6

4+1=5

5+1=6

2+5=7

5+3=8

1+3 =4

4+3=7

2+4=6

5+2=7

2+2=4

1+3=4

2+4=6

2+2=4

5+1=6

3+2=5

5+4=9

34+4=7

5+44=9

54+2=7

1+4=5

3+5=28

S5+1=6

2+5=7

2+3=5

4+3=7

2+1=3

I+1=2

2+3=5

2+5=7

5+5=10

4+3=7

2+2=4

3+2=5

2+3=5

3+5=28

l1+1=2
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ExamDate:

4+2=6

1+2=3

1+3=4

5+2=7

4+5=9

5+4=9

5+3=8

4+5=9

2+3=5

3+2=5

2+5=7

4+2=6

ExamScore:
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